
Toutes les Opérations (G)Calculez chaque somme, différence, produit, ou quotient.10 ÷ 1 = 30 ÷ 5 = 13 + 8 = 112 ÷ 8 =9 - 4 = 77 ÷ 7 = 14 + 12 = 11 ÷ 11 =23 - 14 = 6 ÷ 1 = 48 ÷ 6 = 11 × 4 =24 - 10 = 2 × 2 = 11 - 3 = 5 × 1 =6 - 3 = 8 - 6 = 2 + 12 = 10 - 7 =180 ÷ 15 = 3 × 10 = 5 + 3 = 8 + 11 =2 + 4 = 14 + 1 = 6 × 3 = 32 ÷ 4 =81 ÷ 9 = 11 - 5 = 7 + 9 = 1 + 2 =8 × 14 = 8 + 9 = 7 × 11 = 15 + 10 =10 × 4 = 12 + 9 = 14 + 6 = 1 + 12 =9 - 4 = 8 + 9 = 80 ÷ 10 = 15 + 7 =12 + 15 = 2 ÷ 2 = 15 - 9 = 15 × 11 =1 + 1 = 4 + 5 = 64 ÷ 8 = 130 ÷ 13 =12 + 15 = 14 × 6 = 13 + 9 = 20 - 6 =5 + 1 = 7 + 9 = 13 + 10 = 8 + 2 =84 ÷ 12 = 117 ÷ 9 = 2 + 4 = 9 + 7 =1 × 5 = 13 - 3 = 13 - 2 = 10 + 11 =10 × 15 = 7 + 11 = 17 - 2 = 15 ÷ 1 =14 × 13 = 6 × 13 = 2 + 15 = 117 ÷ 13 =2 + 11 = 20 ÷ 2 = 5 × 11 = 6 × 6 =25 - 10 = 4 × 9 = 8 + 5 = 32 ÷ 4 =15 × 11 = 4 ÷ 4 = 25 - 15 = 80 ÷ 10 =3 + 6 = 72 ÷ 12 = 9 + 14 = 3 ÷ 1 =7 × 10 = 6 + 9 = 10 + 1 = 10 × 11 =4 + 8 = 19 - 5 = 25 - 14 = 3 + 14 =Mathslibres.com



Toutes les Opérations (G) RéponsesCalculez chaque somme, différence, produit, ou quotient.10 ÷ 1 = 10 30 ÷ 5 = 6 13 + 8 = 21 112 ÷ 8 = 149 - 4 = 5 77 ÷ 7 = 11 14 + 12 = 26 11 ÷ 11 = 123 - 14 = 9 6 ÷ 1 = 6 48 ÷ 6 = 8 11 × 4 = 4424 - 10 = 14 2 × 2 = 4 11 - 3 = 8 5 × 1 = 56 - 3 = 3 8 - 6 = 2 2 + 12 = 14 10 - 7 = 3180 ÷ 15 = 12 3 × 10 = 30 5 + 3 = 8 8 + 11 = 192 + 4 = 6 14 + 1 = 15 6 × 3 = 18 32 ÷ 4 = 881 ÷ 9 = 9 11 - 5 = 6 7 + 9 = 16 1 + 2 = 38 × 14 = 112 8 + 9 = 17 7 × 11 = 77 15 + 10 = 2510 × 4 = 40 12 + 9 = 21 14 + 6 = 20 1 + 12 = 139 - 4 = 5 8 + 9 = 17 80 ÷ 10 = 8 15 + 7 = 2212 + 15 = 27 2 ÷ 2 = 1 15 - 9 = 6 15 × 11 = 1651 + 1 = 2 4 + 5 = 9 64 ÷ 8 = 8 130 ÷ 13 = 1012 + 15 = 27 14 × 6 = 84 13 + 9 = 22 20 - 6 = 145 + 1 = 6 7 + 9 = 16 13 + 10 = 23 8 + 2 = 1084 ÷ 12 = 7 117 ÷ 9 = 13 2 + 4 = 6 9 + 7 = 161 × 5 = 5 13 - 3 = 10 13 - 2 = 11 10 + 11 = 2110 × 15 = 150 7 + 11 = 18 17 - 2 = 15 15 ÷ 1 = 1514 × 13 = 182 6 × 13 = 78 2 + 15 = 17 117 ÷ 13 = 92 + 11 = 13 20 ÷ 2 = 10 5 × 11 = 55 6 × 6 = 3625 - 10 = 15 4 × 9 = 36 8 + 5 = 13 32 ÷ 4 = 815 × 11 = 165 4 ÷ 4 = 1 25 - 15 = 10 80 ÷ 10 = 83 + 6 = 9 72 ÷ 12 = 6 9 + 14 = 23 3 ÷ 1 = 37 × 10 = 70 6 + 9 = 15 10 + 1 = 11 10 × 11 = 1104 + 8 = 12 19 - 5 = 14 25 - 14 = 11 3 + 14 = 17Mathslibres.com


